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If a number is divided by 14, then it becomes equal to 10% of the second
‘number. First number is how much percent more than the second number?

gfc U AT Dl 14 Y [GUIISTd fhar Sirdl 8, df a8 Gax] TRl & 10% b &R o
ST © | Ugd! AT GERI e o fara- uld=id sifdie g2

a) 0%
b) 5%
C) 0%

d ) 0%
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Height of a right circular cylinder is 20 cm. If the radius of its base is 14 cm, then
‘what will be the curved surface area of the cylinder?

Uh did JAIPR da Dl SHdlg 20 JHl g1 Afc ID SMYUR I Fsar 14 JHit g,
ST DT dh-UR I A T GRT?

a) 40 cm?
b) 20 cm?
C) 50 cm?

d) 30 cm?
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The average weight of 10 articles is 65 kg. If three articles having an average
‘weight of 72 kg are removed, then what will be new average weight of the
remaining articles?

10 TEI3T DT 311-d g9 65 fbur g | afd 72 fbur sfid g a1l i a&gsii ol
THapTe foar ST o, Al Y a3l BT 741 311d dol 1 g2

a) ko
b) » kg
C) | kg

d) kg
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The average run scored by a batsman in 20 innings was 40. He scored two
‘back to back centuries (hundred in each) but in his 23rd innings he got out in a

low score for that his final average after 23 innings is 45. How many runs did
the batsman score in his 23rd innings?

U deaidiol gRT 20 RG] H &1U TU 3{1¥d 3 40 4| 98 U & &1 Ud gl P
AT & (WD | AN, dlcb= 3191 2391 URl H dg &H i IR 313 ol 141, Sidid
23 IRYl & dIg 38T 3ifdH 3MId 45 © | dcaidrol 4 319+ 234l Rl H fda+ 3
§-Y 57

a) 45

b) 36
C) 38
d) 35
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After how many years does any rupee triple at 16%% annual simple interest?

162 % A1 ATRUN <AToT W {dhd aul & &g Dlg 29T fai-1 gl ST 62

16 years
20 years
12 years

24 years
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A Is twice as skilled a workman as B and together they finish a piece of work in
18 days. In how many days will A finish the work?

A, B @I -1 H GRHT HRIA SRR © 3R d Gl Th B DI U 1Y 18 fa-i o

TR DR GDhd o | A DI B fba- a1 T g1 SN2

27 days
18 days
36 days

None of the above
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The ratio of number of teachers and the number of students in a school is 2 : 5.
If on a particular day 15% of teachers and 20% of students were absent, then
find percentage of all (teachers and students) who were present on that day (in

approx).

U ¥hd | [R1&/d] B AT SR Sl B WA BT UM 2 : 551 gl [l faviy
& IR 15% fR1&/d 3R 20% S SulRyd 4, dl 37 9T (R1&r@! 3R SHEl) &1
ORI 1 IO Sl 39 T (@RTHT) IR 4

81%

73%

2%

85%
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A container contains 80 liters mixture, in which there is 25% nitrogen. Find the
‘quantity of pure nitrogen to be added in it to make the solution contain 40%
nitrogen.

U R U 80 dier Bl Byl g, [SRH 25% AArgelo ol 994 fHdrs S Tl UG
S cio &I OHET 1 DI difd 9l J 40% Argcioi gl S|

18 litres

15 litres

20 litres

12 litres
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If the base of a prism is a square of side 8 cm. If the height of the prism is 20
‘cm, then, find the total surface area of the prism.

e U [0S BT SR 8 JHI Yol aral 1 © | Ffe {UH &l Gdrg 20 41 g,
TUSH D1 o IR At d J1d Hifoy|

738 cm?
748 cm?
758 cm?

768 cm?
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The shopkeeper sells 75 kg millets. He sold part of millets at the profit of 10%
‘and rest at the profit of 20%. Overall profits of 15% are made on the sale. What
amount of the quantity of rice was sold at 20% profits.
GHHER 75 b doRT §9dl 6 | 394 10% & d1H IR §oR 1 DO (oWl ad]
3R AY 20% o 1Y GR & 47| faehl IR D [HATHR 15% DI d1H Bidl o | doR Pl
[ -t AT 20% AT OR o4l 15 |

40 kg
37.50 kg
25.75 kg

275 kg
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A fruit-seller incurs loss equal to selling price of (x — 6) mangoes by selling (x +
'6) mangoes. If the loss percentage incurred is equal to 15%, find the value of x.

U Hd-[debdl Dl (x + 6) HTH DI dd- W (x — 6) 3MTHI & [dhd e b §RIeR gl

gidl o1 gfe g arell 1= Ufd=rd 15% & a6R ©, di x &1 J1 J1d Piford |

8.5

7.5

10
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The ratio of the total surface area and the volume of a cylinder is 8 : 11. If the
radius of the cylinder is 3 times its height, then find the radius of the cylinder?

U dd- & JHU-gSIT &% 3R S &l 3UTd 8 : 11 gl Al da- &I [HaT,
JAD! Gdls DI 3 T g, Al da @I Hs1 J1d BIoR |

11
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Two pipes P and Q can fill a tank in 12 hours and 20 hours respectively. P and
'Q work alternate hours and P starts the work, at what time the tank gets filled?

Gl g139 P 3R Q Udh ¢ &l hHRT: 12 €< 3R 20 B¢ H R Fbd o1 P 3R Q
TDIR G2l TR B DR © 3R P B Y= HAI 6, ¢ [bd- JHT T HR SIU?

13 hours

14% hours
15 hours

15% hours




